EHiRI0 DDKL

HBBHNELE, BATIHEERTIRRRNEE,

BUBOBYE, RERROEAES, FRLERDTHRE,
é EHMM R BRE, TR EEAE BB REBENER,

It unique internal design apply to kinds of mold base and

mold plates, |ts components made of vulcanized steel to make
# sure long service life.plug device is eqgsy to be installed timely.
# latch lock's internal installation can prevent the conflict between

HE
gﬁ;g joints and external components.

8
#e
B2
51§ Lt

TR L A
N ) c . FIER B X-1 W 7EH
? | BiR |

1

4mm min

RERE | BART

DDKL2811 140
5->30 ==

DDKL2812
]2; = 296 1000 100 40  23+01 22->35 10°0%
N

DDKL2821 20— >55 —

DDKL2822

DDKL3411 160

6->41

34 DDKL3412 280
i o 39 2000 200 51 32+01 27- 5476 12°0%

AL 41->76 —

DDKL3422

DDKL4511 200

12— >58

45 DDKL4512 310 +0.04
L = 596 3000 380 68 43101 35->60 16"

DDKL4521

58 — > 104
DDKL4522 gid

159



=== wn I
[UESNEI0 DDKL.- =y

h?n::#&’:: - l’

DDKL-71/72 / DDKL 51
DDKL-: 31/32 DDKL-62

Rﬁ;-f(ii) Bk DDKL11 DDKL32 | DDKL62 | DDKL41 DDKLS1 | DDKL71/72

DDKL 41

DDKL 21

DDKL2811
DDKL-2071  5-30 2100
25  DDKL2812 DDKL-2082 250
DDKL-2011 DDKL-2021 DDKL-2031 DDKL-2032 DDKL-2062 DDKL-2041 DDKL-2051
/N DDKL2821 DDKL-2081 140
DDKL-2072  30-55 2260
DDKL2822 DDKL-2082 250
DDKL3411 DDKL-3081  1e0
DDKL-3071 641 2450
34  DDKL3412 DDKL-3082 g0
DDKL-3011 DDKL-3021 DDKL-3031 DDKL-3032 DDKL-3062 DDKL-3041 DDKL-3051
®®  DDKL3421 DDKL-3081  1ep
DDKL-3072  41-76 2650
DDKL3422 DDKL-3082 g0
DDKL4511 DDKL-4081
DDKL-4071  12-58 3260
45  DDKL4512 DDKL-4082 310
DDKL-4011 DDKL-4021 DDKL-4031 DDKL-4032 DDKL-4062 DDKL-4041 DDKL-4051
XE  DDKL4521 DDKL-4081  2pp
DDKL-4072 58-104 3760
DDKL3422 DDKL-4082 310
L2
DDKL11 i [ DDKL41 DDKL51

D18
——

- >
®D16
D17

L18 |
k " ‘ =) L20
3

L1
DDKL3011 % 33 M26x150 16 46 6 35 12 DDKL3041 & 8 70 DDKL3051 H# 144 154 23 5

e or o s o e o i e i

DDKL2011 /B 28 M22x125 135 34 5 26 10 DDKL2041 /hE 65 56 DDKL2051 /hE! 123 129 15

DDKL4011 X% 42 M34x150 184 59 10 42 14 DDKL4041 X& 97 90 DDKL4051 X& 194 204 32 7

DDKL21 ‘é\ & DDKL62
= - (=] <
5 I\

\ = —

; —_ —

% pu j—

e — —

P 5

pm— —

6 xLocking 6x Rubber

L17 i pins Springs

4XCam Finger

—mm--—-
DDKL2021  /ME 126  Mi6x1 68 26 11 DDKL2062 /M 58 42
DDKL3021 & 15 M19x1 8.3 3 21 8 8 17 13 DDKL30g2 & 72 48
DDKL4021 K& 172  M24x1 1001 35" o5 10 9 21 15 DDKL4062 ~ KAE 9 6

|
1
#
%
7
31

59185 UBU0dWOo Bunpos apopy

160



[AIEH1ISEI0 DDKL:--

DDKL31-DDKL32
5 2

L9

; s

DDKL20312'  DDKL20322 ll\’ﬂ 54 206 M16x1 40

|
]
L]
#
£
51

$9Bs uBUOt00 Bunpo BpoRy

1261 25 68 | 104 6.8 Méx1
DDKL30311'  DDKL30321 FE 60 244 MIXI 51 15 8 46

DDKL40311'  DDKL40321 X& 78 324 M24xi 38 20 10 60 17 4 84 137 85  M8x1.25

DDKL71-DDKL72

®D20
®D19

_--_----

DDKL 2071
INE 28  M2X1.25 16 37 315 6 108
DDKL 2072 30-55
11
DDKL 3071 6-41
Ay 34 M26X1.25 19 49 41 7 128
DDKL 3072 41-76 146
DDKL 4071 12-58 152
KA 45 MaX1s 26 6 56 10 173
DDKL 4072 58-104 198
DDKL81-DDKL82 - S
& ﬁ N af &
al g - 'y \j =1=11ale
8] 65— / By 6,
- L31
SW=F3/ L32
L30
DDKL 2081
INE 16 124 98 21 4 67 13 M8X1.25
DDKL 2082 250
DDKL 3081 160
hE 19 145 17 24 46 76 15 M10X1.5
DDKL 3082 280
DDKL 4081 200
i) 26 195 159 31 55 95 22 M12X1.75
DDKL 4082 310

161



